

Bid 40-2022 Addendum 1 NAC HEAVY HIGHWAY INC. Supplier Response

Event Information

Number: Bid 40-2022 Addendum 1

Title: Leestown Industrial Pump Station Replacement Project

Type: Competitive Bid Issue Date: 4/28/2022

Deadline: 5/19/2022 02:00 PM (ET)

Contact Information

Contact: Brian Marcum

Address: Central Purchasing

Government Center Building

Room 338

200 East Main Street Lexington, KY 40507

Phone: (859) 2583320 Fax: (859) 2583322

Email: brianm@lexingtonky.gov

NAC HEAVY HIGHWAY INC. Information										
	ontact: ddress:	ntact: Brian Nash dress: 310 Cutters Hill Court Lexington, KY 40509								
	hone: mail:	(859)	263-3102 @nacheavyhwy.cor	n						
NLY ONLINE BIDS WILL BE ACCEPTED! By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached d/RFP/RFQ/Quote/Auction documents.										
	n Nash					tammy@nacheavyhwy.com				
_	nature				Email	1				
ub	mitted at	5/19/2	022 11:55:21 AM							
Response Attachments										
FUCG Bid#40-2022 Leestown Road Industrial Pump Station Replacement.pdf										
LFUCG Bid#40-2022 LEESTOWN ROAD INDUSTRIAL PUMP STATION REPLACEMENT NACHH										
Bid Lines										
1	Mobilizat	tion								
	Quantity	: <u>1</u>	UOM: LS		Price:	\$59,000.00	Total:	\$59,000.00		
2	Demobil	ization								
	Quantity	: <u>1</u>	UOM: LS		Price:	\$10,000.00	Total:	\$10,000.00		
3	Bonds a	nd Insi	urance							
			UOM: LS		Price:	\$16,000.00	Total:	\$16,000.00		
4	Erosion and Sediment Control and Conformance with SWPPP									
	Quantity	: <u>1</u>	UOM: LS		Price:	\$21,000.00	Total:	\$21,000.00		
5	Connect	ion to I	Existing Sewer, 8-Ind	ch Sewer						
	Quantity	: <u>1</u>	UOM: EA		Price:	\$6,000.00	Total:	\$6,000.00		
6	Concrete	e Struc	ture Safeloading							
	Quantity	: <u>1</u>	UOM: LS		Price:	\$17,000.00	Total:	\$17,000.00		
7	Manhole	Aband	donment							
	Quantity	: <u>1</u>	UOM: EA	Unit	Price:	\$3,000.00	Total:	\$3,000.00		

Price:

\$95,000.00

Total:

\$95,000.00

General Site Improvement, Including Grading, DGA Installed Around Pump Station, Fencing, Sliding Gate,

Complete

Quantity: 1 UOM: LS

9	9 Bituminous Concrete: Private Parking Lots/Driveways								
	Quantity: 80 UOM: TON Price	e: \$50.00	Total:	\$4,000.00					
1	Manhole, 4-Foot Diameter								
0	Quantity: 3 UOM: EA Unit Price	e: \$6,000.00	Total:	\$18,000.00					
1	Gravity Sewer Line, 8-Inch PVC								
1	Quantity: 224 UOM: LS Price	e: \$498.00	Total:	\$111,552.00					
1 2	Force Main Pipe, 6-Inch Ductile Iron								
	Quantity: 120 UOM: LF Price	e: \$270.00	Total:	\$32,400.00					
1 3	Reconnect Existing Gravity Sewer to New Manhole, 8-Inch								
	Quantity: 1 UOM: EA Unit Price	e: \$3,000.00	Total:	\$3,000.00					
1 4	Comminutor Vault, Including Comminutor, Rails, Hatch, Installed, Complete								
	Quantity: 1 UOM: LS Price	e: \$121,000.00	Total:	\$121,000.00					
1	New Pump Station, Including Wetwells, Pumps, Guide Rails, Valve Vault, Piping, Valves, Controls, and All								
5			T	****					
	Quantity: 1 UOM: EA Unit Price	e: \$695,000.00	Total:	\$695,000.00					
1			Ī						
	Quantity: 3 UOM: EA Unit Price	e: \$4,000.00	Total:	\$12,000.00					
1	Tie-In to Existing 6-Inch Force Main, Including Bypass Pumping								
	Quantity: 1 UOM: LS Price	e: \$39,000.00	Total:	\$39,000.00					
1	Freezeproof Yard Hydrant, Complete		•						
	Quantity: 1 UOM: LS Price	e: \$3,000.00	Total:	\$3,000.00					
1 9	1-Inch Polyethylene Water Service Line, Trenching and Backfill								
	Quantity: 320 UOM: LF Price	e: \$34.375	Total:	\$11,000.00					
2 0	Water Service Connection, Including New Tap Application Form, Fees, Plumbing Inspections, as Shown on the Plans, Complete								
	Quantity: 1 UOM: LS Price	e: \$4,000.00	Total:	\$4,000.00					
2			i otai.	ψ+,000.00					
2	Dense Graded Aggregate (DGA), Extra, as Directed by En Quantity: 10 UOM: Ton Price		Total:	\$500.00					
		е	Total.	φ300.00					
2 2		¢50.00	T. ()	\$500.00					
	Quantity: 10 UOM: Ton Price	e: \$50.00	Total:	\$500.00					
2	No. 57 Crushed Stone, Extra, as Directed by Engineer	*	[<u>_</u>	\$					
	Quantity: 10 UOM: Ton Price	e: \$50.00	Total:	\$500.00					

No. 2 Crushed Stone, Extra, as Directed by Engineer

Quantity: 10 UOM: Ton Price: \$60.00 Total: \$600.00

Response Total: \$1,283,052.00